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Note: -You have four choices foj

question number in your

K. Wl uflﬁUf-c.‘w)‘JL-f z/ &VLL/ ztu:jbuvl—uﬁ

each objective type question as A, B, C and D. The choice which you think is correct: fill that circle in front of that
nswer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q1 Questions /=1y A B o D
& e
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1
Bronchitis may be caysed by: bacteria yeast plasmodium ascaris
‘4—&;7&(3)‘64,:/4&(.)!
2, 2cm 4cm 6cm 10cm
The thickness of human kidney is:
_gﬁégﬁﬁébiﬂ'/cébéw
3. 31 16 12 10
Pairs of cranial nerves arise from human brain are:
P ey i ey o By o N ]
All of these are hormdnes except: insulin thyroxin glucagon pepsinogen
. St § i o w o )
The longest bone in olur body is: thigh stapes alna arm
. A b e b | P £ s Sl
Rhizopus reproduces 'asexually by: binary fission budding endospore | spore formation
ML T e s L QB sl S 4
7. | Hydrogen bonds present between adenine and 1 2 3 4
thymine are:
> 4 I3
_wgfabl;'i}yl,}'éfffjf &) S o o
8.
The locations of genes on chromosomes are called: alleles chromatin loci traits
v Utz Lyt 4 ¢ il FT 3
9.
Which one Is the bioti¢ component of an Ecosystem? soil consumers oxygen water
QA BT RIS i | 1P S | i GtE PNyt ST
10. When we eat onions, qur trophic level is: primary secondary carnivores producers
consumers consumers
S8 130
1. » 1970 » 1975 » 1978 » 1990
Human insulin was prepared in:
2 P ObSS el s | Oty LA Al B
Which drug is obtaineg¢ from bacteria? Streptomycin Aspirin Morphine Penicillin
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(Section -1 (Jil.»)
2. Write short answers td any five parts. (5x2=10) -éé; iz L,méyééf .2
i. What is double Pneumonia? SelrlAds i
il. Define Asthma. 8 i
lii. Write symptoms of bronchitis. _zf.-.wdf«m. i
iv. What is the size of human kidney? ?:rww(.,f[}w v
v. Write two main parts of renal corpuscle. _éjzﬁgz»éd"‘ﬁ’gﬁu v
vi. Define Coordinator with an example. _:é*,dw,,;éq 7 J JETT i
vil. Differentiate between ¢ranial and spinal nerve. ,éuw)u:mf L/ul‘f‘?‘ S i
viii. Define Mixed Nerve. S804 il
3. Write short answers tolany five parts. (5x2=10) -é{ Falig L,lmék..[}f 23
i. Define Endoskeleton. ,éqﬁdﬁ-};iz_t i
ii. Define Cartilage and write the name of its two types. ,;»’i:gffbéru"l»dwulzé.yﬁé alstolS i ,
li. How does reproductiony occur in planaria? ‘-‘4.31!4{&{5:4.,’(}1% dii ﬂ
iv. Define Gametophyte Generation. ,céqﬁdu?./:/’b}f v
v. Define Homologous CHromosomes. -ééqﬁggyrn/ui)rn RV
vi. What is meant by Hompzygous Genotype? 9.1,,1/y¢,fwﬁ;m Vi
vii. Define Monohybrid Crdss. ,é'é..yﬁ(fw//fjﬁr il
viii. Differentiate between gene and alleles. ,éébuuj'df-df»l}:’l Viii
4.  Write short answers togEny five parts. (5x2=10) _ég F el Lazig Lc—éf A
i. Define Population and Community. ,’a‘-,:.gicffr..fw‘fgig J
ii. What are Ectoparasiteg? Give an example. -ﬁ)db;@?d?iblé}gf i “
iii. Define Symbiosis. Eo 8 i :
iv. Write the definition of commensalism. _éqﬂé‘a}fu’i’ v
v. Define Genetic Enginegring. _éqﬁéjff!u@! RY
vi. Write any two uses of Ethanol. -c’f.:«ﬁb‘;’b;(}f&diﬁ'i i
vii. Differentiate between Narcotics and Hallucinogens. _éé&)uf- IS }f"uhfé b vii
vili. What are antibiotics? vuzyu“zuf:a Vil
Section — 11 /3.5
Elach question carries Nine mﬁs) RAIL Iy 1
5. (a) Describe function of kidney. ; -éu.t_«_}’; ¥/ () _5
(b) What is Antagonism? Explain with the help of an e% ,éé:/U;c;m(jdl‘A,g S‘q_.‘lfﬂ'f%l (o)
6. (a) Define and explain Reflex Arc. 0 ,éyu,ém»:zé.yﬁd.ﬂﬂ, () 6
(b) Write a note on AIDS. r11 -c"f il (o)
7. (a) Write a note on resistance against antibiotics. r_ _ééiz,dlyauGLJéf{,ﬁi (N .7
(b) What is Fermentation? Describe fermented food. ( _éug.fu;ns’ J‘f? ) ?4,91@?? } (&)
4%“1 117-221-A-36500
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in front of that

Q.1 QueJtions I=lly A B Cc D 7
4ok Bl | S8 EF b5
1 In the developing colntries smoking rate is 43% 34% 4.3% 3.4%
rising by perT‘year.
-é_b’ﬂf nd’f/ 11T A0 )]
2. 2 3 4 5
In human, urine formation takes place in __ steps
83 niog B b FLailf arens
¥
3. AT 2 3 4 5
At the point where a gpinal nerve arises from the
spinal cord, there are _ roots of spinal nerves.
) e bl | v VS T L
Insulin is produced in{the: hypothalamus pituitary liver pancreas
ol m .
e deLis Sz VLS | LIt ST | LSS5 | LS v
5.
Hip joint is an examplg of joint. immoveable [slightly moveable moveable hinge
AE S T LIRS L
6. About % of the total adult Pakistanis are 0.1 1.0 2.0 10
infected by HIV.
AL BT A el S s LS U .
-)L/M
7. Hydrogen bonds are present between adenine 2 3 4 —
and thymine are:
Ozl S i s s e i o L Fif Fis
A .. . 14
8. ; ’
Guanine of one nuclegtide always forms pair Thymitia Cytosine Slidhine el
with the of opposing nucleotide.
M I GE I nl ikl | s F s Bl Fipol
9. Intraspecific interactioT is between the same species same different different
members of: population species population
?z,l)fmJy:’Lc,fb’ﬁ"/,ﬁ I d3s4 ird” imQ s u.f:T
10. Which is the abiotic component of the producers consumers herbivores oxygen
ecosystem?
& 5% -
el a P 5| S Sk Ak J‘:‘./;,,
1.
Name of the yeast, used in fermentation is: Streptococcus | Lactobacillus Saccharomyces | Aspergillus
1 e Qb beUng s Uity LA B Loy B LA
2.
Which of the given drug is obtained from plants? Aspirin Cephalosporin Insulin
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vi.
vii.

vili.

. Write down the length

- What is Antagonism?

. Deflne Ecosystem.
. What are interspecific in

i. What are Omnivores?

(a)

Wirite short answers to any five parts.
. Write two bad effects of smoking.
- Why larynx is called vaice box?

i. What is Bronchitis? Write its two symptoms.

. Describe two parts of rénal corpuscle.

i. Define Effectors and giye two examples.

ii. What is the difference Hetween sensory and motor neurons?
. Write down the functionls
Write short answers to any five parts.
. Differentiate between Hyaline and Elastic Cartilage.

iil. Differentiate between agexual and sexual reproduction.
iv. Whatis Cross Pollination?

Define Chromatin.

i. Differentiate between ddminant and recessive allele.
ii. Define Mendel's Law of [ndependent Assortment.

. What are loci?
Write short answers to a hy five parts.

Define Trophic Level.
Define Genetic Engineer
Define Biotechnology.

Write names of two narco

Attempt any two questions from section II.

tics derived from poppy.

&y ..-.LML.-AU:*:;:.GI < ipnat e Sililrisd
(Section -1 (Jil.¢)

(5x2=10) E P Ll 3 2
_2@1714—1 » L.—G’/ .i
e bl U IS i
L F ey 5 Ut trFose i
nd width of human kidney. ZradUEsSI

Yl SRS v

L e 5y é..g A (5/}-@1 i

e OISt Ly sl P il
UL It i
LNz F Ll 3

2 it S Bl i

sl Loitw
-é‘f(}/‘w-kjgb/;u‘ff?»"f}“&c’ i
S S, v

-éh—i’ /7 Jﬁ}f RY

S ey i
_éqﬁd&}/rl&gdﬁlafﬂéd}a vii

;' wm e3¢ il
e _égf.-.w,ﬁ’é,mék,éf 4

T mz%*? _é._yﬁéf‘“/’él |

SR bl s I i

A LS i

ES8d b

-é..y /7 6.[ ,,,f I..@.ﬁ’- R,

Eo88dte, i

-zr'f:[.gféf/b 2 dbi—nd‘bcw{ vii

of Temporal Lobe.
(5x2=10)

ractions in ecosystem? 5%~ o R

r—
5 'L
I

What is social stigma fac

Ea

d by addicts? UL AL e B F i
Section — I rs..0

(4+5=9)

-d/)édb’/]

h question carries Nine marks.

(b) Explain antagonism in

(b)

(a)
)

selecting biceps and tri

(a) Describe the structure

Describe the process df selective re-absorption in the kidneys.

What is meant by Gerniination of seed?

_Zéjéd.ﬂ‘)fﬂf:'/l'ﬁ-l'dz I"ELU:U”/ (W) 85
,é’-—{uwU;J(if&luf-d’;é,yé_//-,ﬁ?dlﬁ'du%élfjﬁlgﬁ:a@ ()

muscles action
ceps as example.

sl () 6
_é’f..-.wL«';d(fﬁzﬂﬂmﬂw?;;vLfc,cfffzdé' )

of Neuron.

Explain the epigeal and hypogeal germination.

Explain the mode of aclion of vaccines in detail.

Define Fermentation and explain two basic

_éug‘«,wu,;yw/ﬂ&./g () .7
-&éw(h(j(@ld:?. » &ﬁbjdq/ﬂi/wéuyﬁ&ﬁb) (&)

types of carbohydrate farmentation.




